Year 1 Maths Answer Pack – Week 9
Week 9 Lesson 1: Representing numbers within 50
[bookmark: _GoBack]1. There are 26 eggs in total. 26 is 2 tens and 6 ones.
2a. 2 tens and 3 ones is 23 
2b. 3 tens and 7 ones is 37 
2c. 3 tens and 4 ones is 34 
3. You should have three groups of ten and four ones using small objects, write 3 tens and 4 ones and the 2-digit number 34.
Lesson 2: Counting with tens and ones 
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Lesson 3: Comparing numbers of objects
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Challenges[image: ]
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Answers

Challenge 1 - 8 strawberries

N A 47

Challenge 2 - 47p
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Jude is not right. He has counted all the objects as ones, but there are 3 tens.
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Draw coloured dots to show how many:

@ s than 30
reater than 41

@ 32

© greater than 30 but les than 40

Draw objects here which
would have a green and.
a purple dot.

The number of objects
drawn should be between
33 and 44 (nclusive).





